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Rather, she was Mekadaysh herself - 73X RoyaT 511 7ws: TwWTopT RON
and it states that Mee’un is required

Overview

X2 maintains that a 7°aR8 NYTH XOW IWIPNIY 73R, does not require (even) XM, 27
X170 challenges X7 from a 7awn which states (regarding a nn2°) that if the widow
(died or) was Rnn, the 7% is NN for @12°. The X7 assumes that she was wpn
herself, we see therefore that a 7°aR Y72 RW IWIPNIW 730 requires X7, Our MooIn
explains why this 73wn contradicts only X?1¥ but not 2Raw.

= 19998 NN N 1DONR 9NINT IXDIYT NN
So from this 773wn we have a refutation to X2 who maintains that a 7w7pnw miop
AR NYTH XYW, does not require even IR,

mooin asks:
= PN 21N V) NIPAT 9INT IR NN NN ) ININYY 9NN ON)

And if you will say; is it satisfactory according to ®Xm»w? But "X maintains

that a 7°2K8 NYTY XYW WIPNIY MIVP requires a v together with the N -
= D) NV NYT YIUNT 1IN IN MNP NI

And here in the cited 71wn it states, ‘or 118 or YWw1an1’°, which indicates that those
that were 11X do not require a w3 as well. This contradicts the ruling of Sx1mw!

N1D0IN answers:
- TTOWA 9999 D357 992915 NIINT 3799 199 NOWP NY INWMIWY NnYWa 91319 U

And one can say; that it is satisfactory according to »Xww, for there is no
difficulty at all for we can say that previously when XvW ruled that a nivp
IR NYTY ROW IWIPNIY requires both 11X V3, we are discussing a case where there

was a 7w, therefore both are required -
= N NIN 79810 RD 291D 3979W NYT2 999990 NOM

! The X3 answered that the 71wn is discussing a 287 »n2 N AWYA.

2 The words 'R?w7 XN21°NY, may have appeared in X07°3 mo0n of our X3, therefore MooN asks that there is a difficulty
with 78w as well. [Otherwise if the X3 does not state 'R7Ww7 Rn2Arn, perhaps s'%175 27 question was indeed on both
X2Ww and SXmw.] See R"wann.

3 This answer is appropriate only according to the 7"X, however according to the "> where 2182w maintains that 73°7%
IR V3 even by 197w K7, the question on PX1W remains (see ? MR 17 XA X"w77n and 7wn nom).

4 In the previous 18 7"7 'O it stated that according to the 7" there is no dispute between X2 and 7Rmw; however
from this N2 it appears that there is a nPY?nn by 137°Ww RY; according to X7 nothing is required, however according
to PR we require NRM. See (TNA) R"wAn (and Wi *19 who says that this answer of N9 is only in the X",
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However here in the 71wn we are discussing a case without a 777°w, therefore we

only require 78%%, but no v3. This reconciles ?X1mw with the 73wn -
= 99INT RIINT NIYIDY SPNN 13939 WI929D 293 1IN V) 77OV 999910 INT NP RIYD NON

However according to > there is a difficulty; for if it is a case of 77w, she

requires v and 182 according to ' in the >92RT XK -
= 998 RD PINN II2AN DIVNPN YD

And according to 3295, even IR is unnecessary (according to the 7"X), and the mwn
requires (only) 71X -
$INYY 13539 WA 152 DIVNPN WIAY 192 TPIN XY PN 199N T1OY NYT2 99551 IN)

And if the case is by 7792 X, even 7% is not required, whether according to

S"wAD or "9 (according to both mw9). However the mwn requires (only) TWn, in
contradiction to all the interpretations of X?1.

Summary
DR requires XM VA (by a m°aR NYTY ROW "WIPNIY H1vR) by T7°w, however by &

77w he requires only 1X°1. There is no case where X2 requires only 118 (as stated
in the mwn).

Thinking it over

Why cannot we answer according to &7 that the 73w is in a case of 77w, therefore
X1 (only) is necessary, and X7 is discussing a case of 77w X7, so even X is
unnecessary?!°

however when the X113 answers for X219, the same answer will apply for 7X@ and we do not have to assume that by
77w X7 there is a need for 1XM).

3 See previous ¥» 1"7 mooin (TIE footnote # 10).

6 See ['n " MR 1T IRA] R"WA.
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